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Note : (i) All four questions are compulsory. 

(ii) All questions carry equal weightage. 

1. Answer the following question in about 
600 words : 
What is computer based course ? Explain the 
testing process of computer based course with an 
example. 

OR 
Explain how computer/ICT can be used for 
students administration in educational 
institutions. Also explain the important factors 
for success of computerisation of examination 
process. 

2. Answer the following question in about 
600 words : 
What is Computer Based Instruction (CBI) ? 
Explain with an example how following tools can 
be used in CBI project development. 
• Gantt chart 
• PERT chart 

OR 
What is multimedia ? Explain the multimedia 
components which are used in educational 
content delivery in ODL system. 
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3. 	Answer any four of the following question in 
about 150 words each : 
(a) Explain difference between ICR and OMR. 
(b) Explain advantage of multi user operating 

system over single user operating system. 
Also give an example of each. 

(c) Explain how an online tutorial may be 
organised. 

(d) Explain the use of e-mail and chatting, in 
ODL system of support. 

(e) How computers can be used for fulfilling 
the objectives of education ? Give examples. 

(f) Explain use of MIS in Education 
Management. 

	

4. 	Answer the following question in about 600 words 
each : 
Explain different role of computer in Education. 
Justify with example that "the selection of proper 
software and hardware is essential for educational 
institute management". 
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